==—=GAMBER®
=—JOHNSON

Very Well Connected™

INSTALLATION INSTRUCTIONS

Product Revision Form
7160-0198 Rev. A INST-436
CLASS8 VEHICLE BASE

The class 8 vehicle base will allow auser to mount a DS-52 base as a no-drill solution. The base will
mount under the passenger side seat. Four positions of the DS-52 and four positions on the base provide
the user with 16 different mounting positions.

Mounting the Base

1. Remove and set aside the fasteners securing the passenger seat to the cab of the truck.

2. Remove and set aside the fasteners securing the seat belt strap from the side of the seat.

3. Slide only the base plate under the seat guiding the air line, if present, through the slot in the base
plate.

4. Align the appropriate holesin the plate and seat with the holes in the cab of the truck. See sheet
2 for appropriate holes.

5. Secure the seatbelt strap to the seat.

6. Securethe seat to the cab of the truck.

Mounting the DS-52
1. Securethe small foot bracket to the DS-52 using the supplied (2) 3/8-16 x 1.25-in carriage bolts,
(2) 3/8-in flat washers, and (2) 3/8-in nylon lock nuts.
2. Position the DS-52 assembly over the preferred holes in the base plate.
3. Securethe DS-52 assembly to the base place using the supplied (2) 3/8-in flat washers, (2) 3/8-in
lock washers, and (2) 3/8-16 x 1.00 hex head cap screws.

-

\ 3/8-16 x 1.00 HHCS
FRONT OF CAB %: 3/8-in LOCK WASHER
3/8-16 NYLON . 3/8-in FLAT WASHER
LOCK NUT

3/8-in FLAT WASHER

GUIDE AIR LINE
THROUGH SLOT

3/8-16 x 1.25 »
CARRIAGE BOLT N

Product Mounting Disclaimer

Gamber-Johnson is not liable under any theory of contract or tort law for any loss, damage, personal injury, specid, incidental or consequential damages for personal injury or other damage
of any nature arising directly or indirectly as aresult of the improper installation or use of its products in vehicle or any other application. In order to safely install and use Gamber-Johnson
products full consideration of vehicle occupants, vehicle systems (i.e., the location of fuel lines, brakes lines, electrical, drive train or other systems), air-bags and other safety equipment is
required. Gamber-Johnson specifically disclaims any responsibility for the improper use or installation of its products not consistent with the original vehicle manufactures specifications
and recommendations, Gamber-Johnson product instruction sheets, or workmanship standards as endorsed through the Gamber-Johnson Certified Installer Program.

If you need assistance or have questions, call Gamber-Johnson at 1-800-456-6868
Page 1of 2



Z JoZ abed
8089-9G-008-T e uosuyor-equies) |ed ‘suoiisenb aAey J0 aouelsIsse pasu NoA ||

‘weibo.d Jo|[eIsu| pa1eD uocsuyor-eques) ayi Ydnoiyy pesIopud se sprepuess diysuewsiom JO ‘S1eays Uo[1onJisul 1onpoJd uosuyor-Jequies) ‘'Suo 1JepusLuLLIods) pue

SUOI720141090s Sa.NjJe NUew S[DIUSA [eUIBLIO AU} U IM JUSIS SU0D Jou S1onpoud S11 Jo UoiRe|feisul Jo asn Jadoudwi ayp Joj A11jigsuodsal Aue swie|osip Ajfedl}ioads uosuyor-eques) “palinbal

s juswdinbe Aeges Joyio pue sBieg-lke ‘(SWeisAS JeU10 Jo Ui SALIP ‘[ed1I109R ‘Saul| sayelq ‘Saul| Ny JO UD(IeI0| ay) 9 1) SWRISAS 32 1UA ‘S)uednado 3|01USA JO UoIRBPSU0D |y s1onpo.d
uosuyor-equres) asn pue |eisul ARJes 03 Jop.o u| “uoiedi|dde suio Aue 1o 3jo1yeA Ul s1onpoud i Jo asn Jo uoike|fesul sedoidwi syl Jo 3 nsale se Aj0e.ipul Jo Ajoelip busiie ainfeu Aue jo
afewep Joyjo Jo Ainfui feuosied Joy safiewrep fenusnbasuod Jo feuepioul ‘eoads ‘Ainful eucssed ‘afiewep ‘sso| Aue Joy Mme| 110 JO 13euod Jo 103} Aue Japun a(gel| 10U S| uosuyor-Jequies
BWepsig bununopy 1onpoid

® ® ©® |
\Q 0 2 e @/
© mW@ Q@ @
. 8 8 o
- N |
|
o
|
.
O - o |
©), @ |
Q @
o@ @ |
0 ¥

Jels ulsalsa M\

OAJOA

NINguauad

HoBIN

yuomuay|

N[ |A A ||

leuolieulalu|

T Jauipybiai4

ueled ajoH [ N0 9I9IYBA 8 SSe|D

ISVE ITDIHIA8SSY 1O
9cP-1SNI \vAic)e 86T0-09T.
w104 UOKSINSY 1oNpo id

SNOILONALISNI NOILV T1V1ISNI

. P122ULOY) []PAN KISA

NOSNHOMN==
LI JINVO ==




